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Question Number : 1 Question Id : 716447901 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The senescent chloroplast usually found in aging leaves is known as:

D0Ed(Deoh) DErees” FTcorT 5D DRV ETF DR @er eotr:

Options:
Amyloplast

1« 225



Chromoplast

7 % §I‘JJ°.§“§§

Elaioplast

g g QO

Gerontoplast

4 o BTy

Question Number : 2 Question Id : 716447902 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following models of the plasma membrane structure was proposed by Davon and Danielli (1952)?

@ﬂﬂ‘% @S0 DT°LE0 OO0E), 306 Sarred’ oo ddain £ (1952) 82D DA Sowrdd?

Options:
Fluid mosaic model

1. % GO DEPONS ST

Sandwich model

7 ToLdDD AT

Lipid membrane

7 Dl S(edo

Micellar model

4. x 20DOE DT

Question Number : 3 Question Id : 716447903 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about non-histone chromosomal proteins?

2D Cared EDrdaes (T (Ddod 8ob @S & Dao Sen?



Options:
These are acidic in nature

1. = Q) €54 “‘n:ﬁsajn.ﬁo 208 sotrow

Different organisms differ greatly in their non-histone proteins

9y DD 2aDeD T DTS 6ard TOHS Trer HI) ofr Eo0trod

These are synthesised throughout the cell cycle

3 % 20 e iS50 L0 DoFalre LOEIETPOD

These NHC proteins tend to depress genetic activity

4 o & NHC 'd0 2o S0 eesid ) aron(sfgron)

Question Number : 4 Question Id : 716447904 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

During which phase of mitosis are the chromosomes regrouped in to a nuclear structure within a nuclear membrane?

20D g, J 653S° ErE dwen Zogs B’ et DT EEIS HBA 20 dobeceron?

Options:
Metaphase

1 % Fo b ALFe %)

Prophase
7w ToB

Anaphase

=

KK eI )

Telophase
4' v 365705,



Question Number : 5 Question Id : 716447905 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Within which of the cell organelle does the 28S rRNA combine with proteins made in the cytoplasm to form the 60%

ribosomal sub unit?
2D Se Srwroriod” e5Praes” SoIrpD TOIE 58 28S rRNA 58 607 5ei’ e € a0 JoyHRod?
Options:

Endoplasmic reticulum

1 = Do&f@“ﬁ%é B0

Nucleolus

2 o 2 SOITOR (2089500 )

Golgi bodies

3 % ™9 EFPCe

Peroxisomes

4. - ET%JE%EEXJJ

Question Number : 6 Question Id : 716447906 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following has the enzymes of glycolate pathway?

S0d TOS° GESE Jrgo d30E), JoZdwen £BH & D ID?

Options:
L omasomes

1' % Eﬁdma'éfﬁjb

Spherosomes



Peroxisomes

3. ¢ E]D‘égﬁﬁéjg

Glvoxysomes

4' . gwéﬁﬁﬁi‘)ﬁ

Question Number : 7 Question Id : 716447907 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following monomers does NOT make up DNA?

308 DFPRBEES° DB AIDIRD SOITFED BoRED?

Options:
Deoxvthymidylic acid

1 « &oﬁréﬁ_md% ool

Deoxvguanylic acid

7 % &Dﬁ?ébmmbﬁlé oirat

Deoxvuridylic acid

3 o &Dﬁ?égmﬁiﬁbé oiraé

Deoxvcytidine acid

4 x &oﬁréﬁﬁda oS

Question Number : 8 Question Id : 716447908 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Hershey and Chase showed DNA as genetic material using:

g awboin 3& AN enairhon) DNA &0 20§ DEFgorr cATaroord:

Options:



only bacteria

1 = EP{SO0IFaD gD

only viruses

7 % ROV TGO

bacteria and bacteriophages

3 w&%ﬂm Fobla euhy] mgacam:a—m

only bacteriophages

4 x EPSOCIFDED DFGaD

Question Number : 9 Question Id : 716447909 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The anticodon used in the initiation of protein synthesis is:

THD Do FrC0i0eS” G0N aIrodE T:

Options:
CTU

1. & fedasn
CAU

7 % 2o

3. ¢ oD

ACU



Question Number : 10 Question Id : 716447910 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The lateral movements of specific plasma membrane proteins and lipids can be quantified by a technique known as:
DBR 7, B0 T DB B CTE); ) VTR G FoSBES Lr(O T oisdiy:

Options:
fluorescence recovery after photobleaching

1 v Fe5*DDoA ST @‘sb’ﬁ?ofob B5:50

flow cytometry

0 . TS

scanning electron microscopy

J, D06 JogEd @gﬁﬁbﬁ

transmission electron microscopy

A« egbc:%aﬁ DOTR @Eﬁﬁﬁj

Question Number : 11 Question Id : 716447911 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

During DNA replication, Okazaki fragments are formed on:

DNA 20705045 (3030) Pavodoes”, aseard( Okazaki) S8y e DD Dcﬁ:j{:@“mjz

Options:
unopened strands

BODLIED FoloD

1. =

leading strands

Biod g“ﬂé&)}_}



unopened proteins

3 & BODED TOIOD

lagging strands

er=fof gﬁnﬁﬂ.@

4, v

Question Number : 12 Question Id : 716447912 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following has the ability to trigger cell cycle arrest and cell death?

gea 950 DOy0cso SOAID £ S1OEFD) HBo) &mgﬁo S08 ortdeS” DO EHRNH?

Options:

Cdk
1. = Cdk

P53

3 « P53

MPF

4, &« MPF

Question Number : 13 Question Id : 716447913 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a characteristic feature of salivary gland chromosomes?

30T ererae) (106 Eard oo 050 5200 267

Options:



Giant size as compared to mitotic chromosomes

1 « 2065°08 Eord vod 'Y 1Y DBATe0

Intimate synapsis of homologous chromosomes

I % s arrernn Eard soo O308), VD) ﬁ}mﬁi};}ﬁa(aﬂéémm}

All chromosomes are united at one point

7 % DY Eoar& amen 28 Dot DG genron

Transverse bands are not distinct

4 v e“_'adéé ET{0CO BN OTP &otia))

Question Number : 14 Question Id : 716447914 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
An extra piece of chromosome of the normal complement. whether attached in some manner to one of the members of

the regular complement or existing as a fragment chromosome, is known as:
D5 SPoDV0eS G308, :03;5.)5?_)&36 DB er aadobads Jor el 208 FarE 20T Golf FTroes DTcLoss D
Eood oo CB0E), G AWELD TTr PTFD) Qer DeD:

Options:
deficiency

1. = %0

translocations

2 % g"”ﬁ“DEj{jE'BD

duplications

3 v mﬁ;éﬁf}gfdﬁsﬁjmaﬂw]



inversions

4w DSaTren

Question Number : 15 Question Id : 716447915 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The type of inversion in which the loss of a fragment results in the deletion of genes is known as:

2,8 A0H.D APTDE0 930 DL TR TESR DS 057D QeU° Bolro:

Options:
mitotic suppressor

1. % 20O DP6

meiotic suppressor

7 % DOOEIS 2RO

linkage suppressor

3 Dodd 2pWb

ClOs5-0VEl SUpPpLessor

4. » TR-8b VY0

Question Number : 16 Question Id : 716447916 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In which kind of duplication is a segment of the chromosome repeated some distance away from its normal location?
s’ DE), 28 2o T Py Aol .g:?:}é ooy circosS” D G520 EIrDEND (ésmea.éo} e5°

DT DBVNB0O?

Options:

Transposition

1 = gva'} 20D



Tandem duplication

7 &rofio BN

Displaced duplication

3 B0 CPDE0D

Reverse tandem duplication

4 x 856y erotio CEFHSNN

Question Number : 17 Question Id : 716447917 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Standard deviation is the square root of which of the following?

FATE D30 808 TS B3 HYDITw?

Options:
Mode

1. & erarowso

Standard error

2l Y @‘&1}’{.‘35 Saﬂ

Variance

3. v D89

Regression

A x DEED0H0(8F0N)

Question Number : 18 Question Id : 716447918 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The mutations which result in the alteration of a codon specifying an amino acid to a termination codon is called as:

000D FEHD oS esardy DF) D Erd 01vg), ey B85 EENBOCRVR) Qe 0eFEd:



Options:
missense mutation

1. = DJ?«DJ%J 53_':;)5933_15

nonsense mutation

7 o E&“?ﬁbﬁ;} M5ﬁ§.‘15

frame shift mutation

7 « 20 0 DLEIND

silent mutation

4 = 2T08) DOFEND

Question Number : 19 Question Id : 716447919 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following mutagens is NOT involved in modifying purines and pyrimidines of DINA?

DNA g3:08), 2575880 208030 DBMESORD 23B03¢c0e5” So0b eBOg= (méejaaf%)eﬁ“ D6 av%‘s"am?

Options:
Nitrous oxide

1 x DWOEHE

Hydroxylamine

7 % TESHOROD

Dimethyl sulphate

3« [akebald) LAY



Proflavine

Lo )

A v DODO

Question Number : 20 Question Id : 716447920 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following DNA markers can be used to distinguish between a homozygote and heterozygote?

SFFRETE DB BT BT 06 B MBostedS S0d TOS” D EIDI AFC) G &DATAoSDEN?

Options:
RAPD

1. » RAPD

AFLP

7 % AFLP

RFLP
3. v RFLP

ISSR

/. % ISSR

Question Number : 21 Question Id : 716447921 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following is NOT true about the characteristics of Chi-square distribution?
Chi—i:%bﬁ EREPIIN G008, VLY (DB Sod J°¢3e5° DO Davo e ?

Options:
Chi-square curve value is always positively skewed

Chi —f\a‘bﬁﬁ éﬁs a)ea) ;)thm c:ra“@gf’é SS0TP eotob

Chi-square value decreases with the increase in the degree of freedom

DA gvm(déﬁa 83D ko) pooE Chi 20,6 Dend edev0d



The mean of distribution is the number of the degree of freedom

CREPFD 010E), DTP0 HDTC %ﬂmtéﬁﬁ 035 Pco) GI0E), 03]

Chi-square is a static hypothesis and not a parameter

Chi —i:.%:)ﬁ 908 %}c@m DBSOND DTG DOOATL DTN T

4 %

Question Number : 22 Question Id : 716447922 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following will happen when crossing over occurs within the inverted segments of a paracentric inversion?

For0S De5'svo 008, De5° 50 arrrees” rRoh £a96 RBDODTDYED Sod To3e5° DO ADDHBA?

Options:
Duplication takes place

1. = ErwENR D006

Deficiency takes place

7 5 O'DO VOB

Acentric and dicentric chromatids are formed during meiosis

3 DOOTTIR (L0508 D) D00 0B BaTL ERoBS EanBEy JoyEmron

Meiosis does not takes place

A % DOCTRD(L00506 D) a0

Question Number : 23 Question Id : 716447923 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who first reported the Breakage-fusionbridge cycle in Zea Mays?

2037 202( Zea Mays)es® B35-r@e HE 958D JHMm DEKEY ADOTW?

Options:



Thomas Morgan

1. = a1 Enﬂgﬁé

Barbara McClintock

2 v EPONT® 208 §§°§

Wilhelm Johannsen

7 % DG, ﬁ?ﬁﬁgé

Henking

4 ® _E.J“Lf:'.'ril_]_[]ﬁ

Question Number : 24 Question Id : 716447924 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a function of highly repetitive DNA sequences?

30 e D6 eag51088 SDAITaaly DNA a7 DI s2?

Options:
Structural role in chromosomes

1 = Er& D08 Do e s I

Not involved in crossing over

3 e 8,96 &° amﬁ‘lmassﬁﬁmzo

Protection of important structural genes

3 % mm&@é bnﬁésa ee.c‘mé@u (of-fax]



A repository of unessential DNA sequences

A % ©DDVORD DNA gare 8820

Question Number : 25 Question Id : 716447925 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The joining of which of the following is involved during RNA splicing?
e56Jm 23000 RIVODoES” F0d 7°63e5° DO IDeBI0H?

Options:
Spliceosomes

1 « 2YOOITE DY
Introns

2. % @0@553

Aminoacids

3 % 2T A

Exons

4. & ATy

Question Number : 26 Question Id : 716447926 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about the advantage of RAPD?

RAPD o308, 90320 hBod 30 86" D& Davo 5°e?

Options:
Needs a small amount of DNA

1 = SO DE90ET” BN 893060



It does not involve hybridisation steps

7 % @0 PHREOS B0 SO God

It does not require species-specific probe libraries

3 x OI3 rave- SO T Feden 0000 S

It involves radioactive assays

4 v ) Eémﬁmﬂﬂéé D0geH) £90 Sotaod

Question Number : 27 Question Id : 716447927 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which one of the following statements is INCORRECT?

S0d DEIDDES” DO DOTDH?
Options:
Polygenic traits often demonstrate continuous variation

1 = FOBIS LLEFeD GO DINI) DT DGO 0D

2.

Alleles governing quantitative traits do not segregate and assort independently

DOITEFS) & OLEFON DoIoodd or) as@gw( e s) R(B0GOTT DO LHOMEIEDD DOBOIN IZVTNEIEDD

Quantitative inheritance results in a range of measurable phenotypes for a polygenic trait

g i DODTETELE TCRGL0 FDEIS vg0 Eo Foaro oSOdy 3638 Tr0a:000

4 =

Certain alleles of quantitative trait loci have an additive effect on the character/trait

DODFEFEG) & L0 ¢5°3 (loci) aing), E2y oo, dseryen(ega) P/ L0 oS Derardy SN eotrown

Question Number : 28 Question Id : 716447928 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Powdery mildew disease of pea is caused by:

EIT°D) aB0E), eIPECS @rben( Powdery mildew) 50 DR FoDRV06:

Options:
Colletotrichum falcatum

1 = §ge5"dao ‘5’“{;@9

Erysiphe polygoni
7 @ DB0O FOFTD

Taphrina deformans

3 TR G0,

Xanthomonas

A w FoBATHRD

Question Number : 29 Question Id : 716447929 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following characters is common in bryophytes, pteridophytes and gymnosperms?

X3R5y, B3BEEY aBOID 2DT N6 e & S0 TS D LEEFRD FTCE0?

Options:
Haplodiplontic life cvcle

1. = DT RT0dS 2D 8o

Requirement of water during fertilisation

7 % wodE0en Da000S" D 950060

Presence of archegonia

3 E_‘,?Elejﬁﬁﬁcﬁj" edd



Presence of vascular tissue

4 % TrR0),06(08°Y) Stz eD3

Question Number : 30 Question Id : 716447930 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following does NOT belong to the pteropsida class of pteridophytes?

Sod S IO BBEDLS I0E), BTDYET B001I3S DodJIO 5°0?

Options:
Ophioglossum

1. = &i}tﬂ}“ﬁ‘&}o

Equisetum

2 7 -QBQS?GE'.}O

Gleichenia

7 = Qéﬂm

Pteris

4 = 065

Question Number : 31 Question Id : 716447931 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a causal organism of a loose smut of wheat?

S0 a5 Hcan aB08), erd ) e5( ey Bren) oI 5°0e R ATAY

Options:
Urocystis

1 % OR Y Lla PR TN
. 4]



Puccinia

7 % %), Do

Aspergillus

3 x P_*}?\}:Jﬁﬁgfa

Ustilago

o
4 v Egﬂ“?f

Question Number : 32 Question Id : 716447932 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The development of an entire sporangium from a single cell initial is known as:

2,8 §ge0 FrO0ZI0 Aoc. Do F\TroEono GIVE), DO QT I0ETD:

Options:
Eusporangiate type

1 = mﬁﬁgnﬂoaﬁ@es G0

Leptosporangiate type
3 ﬁ‘g}}ﬁﬁﬁgmoaﬁaﬁ oo

Acrogynous type

3 x 5230 6o

Anacrogynous type

A = OTERID 6o

Question Number : 33 Question Id : 716447933 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Carrageenan, a carbohydrate mucilage. is extracted from:

208 BP0 PGS 2D 900 SBRID, HD M0d DOHaToIeIE0R:



Options:
Chondrus crispus

1 o Foud 80yd

Gracilaria

7 % [roerdon

Gelidium cartilegineum

3 % nBcoio E“QE)&E?S}Q‘.DG

Macrocystis

4 x SPE R
. 23

Question Number : 34 Question Id : 716447934 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Aflatoxins, the most potent carcinogenic agent, was isolated from:

23708 F3D0BTD S0 5050 aPEPSyDy B ol DMBaLRIC0D:

Options:
Penicillium notatum

1 = ydoxo Sereno

Aspergillus flavus

7 o ﬁ?&hﬁﬁyrﬁ Eﬂgajﬁ::

Gibberella fujikuroi

9 x DO o)l Lvlafeny



Neurospora sitophila

4 % ngﬁeﬁﬁc}t}“ a5 e

Question Number : 35 Question Id : 716447935 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Some of the rusts need two different unrelated hosts to complete their life cycle, these are known as:
£y 0D (a0y o o) By ST PQ oIS Bocd DB Woeoto T PR (e0d% 00 e G0, DO

e e9oeFD:
Options:
Autoecious

1. » es000

Heteroecious

7 FEERR0N0

Homothallic

3w Foorads

Heterothallic

4. w TS

Question Number : 36 Question Id : 716447936 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The compact globose or elongated structure formed by the aggregation and adhesion of hyphae, is known as:

T (308, DATPOIAW BT VBN T IOVESD Tro§ HeF'D St HTR0MD DT7LEFED) QT I0ePHd:
Options:
Stromata

F T

1. &= £



Appressorium

7w ©RTBoDo

Haustorium

3y oo

Sclerotium

A v 23,8 a0

Question Number : 37 Question Id : 716447937 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Alginate is derived from the cellulose free middle lamella and primary wall of the members of the family.
50965 930 Dengs’S B S e BAID £Hen0e) DAL FEE HE( ol SnEetod.
Options:

Rhodophyceae

1. % BEDD

Chlorophyceae

7 % 28 0

L]

Phaeophyvceae
3 DOITDD

Cyanophyceae
A % PODIPO

Question Number : 38 Question Id : 716447938 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about members of rhodophyta?

BEEper DR B 808 TrHE” IO dao 5°?

Options:



Photosynthetic pigments include the biloproteins

1 = 80aaacdy w0031 ( D" 00EHE) HEgTOS” BS’THR eotran

No flagellated stage is found

9y FNOOE OF IO ST VCET

Polysulphate esters are component of cell wall

3 FDVS4E5 P 26 Hee dBg), ewcio

Food reserve products are laminarin

4 v €52556 VY GSHBIRD DIT00

Question Number : 39 Question Id : 716447939 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT correctly matched?

Sob are3es” DO 8T ﬁﬂﬁﬂ&ﬂ&ﬁ&jm?

Options:
Sphagnum - antibiotic activity

1 = ﬁ‘ﬁ;lc:} - QIrofIeIaSTEE €50

Leucobryum glaucum - indicator of acidity

I % QP EDHoN0 PSS - e9PB0 GIVE), DS

Poplytrichum - grow in soil rich in lime

3 « FDH50 - WD) 0 AT &) DS DEHMEEOD



Bryum capillare - heavy metal sensitive

4 o 000 RI6 - TP S DINOD

Question Number : 40 Question Id : 716447940 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Archegonia are produced in roofed chambers in the members of which order of bryophyta?

e50) ff Dairen LI0ITDER G0, D SaoeS” PEINY (10 (DO’ (67D roeges”) eand Sobeceron?

Options:
Sphaerocarpales

1. = f\:‘bmﬁbﬁb

Anthocerotales

I woéﬁoﬁeﬁeﬁb

Marchantiales

3' “ m%oeﬁcﬁgﬁg

Jungermanniales

4 = ee,oﬁﬁéﬁ)cﬁjﬁﬂ

Question Number : 41 Question Id : 716447941 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

is an effective seed protectant against Pythium and Rhizoctonia.

D030 SBoIL TEE AT HBGET ITRE DEVGDHOBTVD DD 6L50

Options:
Venturia inaequalis

1 = Docnboie @5)3‘*5%)53



Xanthomonas campestris

S";}o?ffﬁlj“ﬁ“f\] 5§03 D

Phytophthora infestans

3 % ST oe QNI

Trichoderma hamatum

4 v Q%ﬁﬂt}“é T E0

Question Number : 42 Question Id : 716447942 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Litmus, a widely used dye in chemical laboratories as an acid base indicator, is obtained from:
GO PAIFTFOOES” OIFRE BR(F0) APIET DYBoTT EDCEITNS Gord(Z) ey d HD Dol

3208 HEIIBI00:
Options:
Usnea comosa

1 = &.‘?::;Lctijﬂ g

Roccella montagnei

I T Doroeriy

Certaria islandica

7 & (Sjodelevhy QAFrols

Cladonia rangiferina

4 = TEDr Cofindar

Question Number : 43 Question Id : 716447943 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



In which of the following does Sporocarp formation occur?

206 areHes’ ‘255:]663“5;) DU“:JE.D B2e5° adrieaod?

Options:
Adiantum

1 % E‘_‘Jéﬂ“_i]“.é;)o

Gleichenia

9w Dndowr

Ophioglossum

3 % E.Jﬂ}{ﬂ}‘ﬁ"n}o

Marsilea

4 v Ejj“ﬁsﬁ}cﬁj"

Question Number : 44 Question Id : 716447944 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Compound leaves are found in which of the following?
300 i° B D) DErew(sroarod DY) £DDIFro0?

Options:
Lvcopodium

1. » SFICoso

Selaginella

> % ht;aﬁ?fjg

Marsilea

3 v E_“D“EI:}E}GZH“



Isoetes

4' ® E‘Jﬁ%ﬂ)ﬁb

Question Number : 45 Question Id : 716447945 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following biogeographic zones represents most fertile areas and agricultural land?

300 TreS” D OIFEOITEDS R0 T FEH0BIVD FroTFORD AOBOID DD BPDID AFDIFeN?

Options:
The Western Ghats

1. = ?D%}{DECD SR0A08D

North-East India

2 " éﬁméé 2rGeSo

The Gangetic Plains

3 (o DOTER Fromre

The Islands

4 = Baren

Question Number : 46 Question Id : 716447946 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a period of mass extinction?
S0 TS D& Frarers Denad(HrD J30E0) S0 TE0?
4]

Options:
Late Cretaceous

1. = 96 36582000



Late Cambrian

9 o O ZoDaDd

Late Devonian

3w F65 aIDo0D

Late Permian

4« OO0

Question Number : 47 Question Id : 716447947 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the smallest among gymnosperms?

08 TreHes” ﬁﬁjﬂ;ﬁ:&bﬁéﬂeﬁé £9¢d {if:.{ué DE?

Options:
Agathis

1. % easdD

Thuja

7w dom

Zamia pygmaea

3 v 23000 T 2023) O5F

Dioon edule

4 s G@rd 0T

Question Number : 48 Question Id : 716447948 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following have raised the important groups of gymnosperms taxa to the rank of division and recognised
seven divisions?

306 °0¢5° D am;foﬁﬁéﬁ EPE™y C308); SR DAPETFOR) CDRD TS DO 80K I DeFPTPOD

DB ?

Options:
Pilger and Melchior, 1954

1 = ?.J%}ﬁ S0do3w mﬁ)amgﬁ, 1954

Sporne, 1974
7 % ‘2?535;]‘,19?4

Meyen, 1983

3 % Dowd, 1983

Gifford and Foster, 1989

4 v ﬁgjﬁg mam%ﬁ, 1989

Question Number : 49 Question Id : 716447949 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The type of stomata in which the stomata and guard cells is surrounded by two cells which completely enclose the guard

cells with their long axis parallel to long axis of guard cells is known as:

Farer 0803w TP See, TREM Serod) 070 TFED egof M Srro TFEDDd DS DATBCTT
SADADERIED LR OIVE) G5 QT I0EPD:
£ 23 (5]

Options:
Diacytic

1. & cosrois

Paracytic

? & FUOS



Anisocytic

3. % DVAE

Actinocytic

A O30S

Question Number : 50 Question Id : 716447950 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about sclereids?

S0d TOS” 2,0& (1B0D D& Daro SP?

Options:
They have very thick lignified walls

1 & T 20001 B DE Do B0 cotron

They have been used as diagnostic tools in several taxa

7 e EJ"S“JUE_'-)AS 2D ﬂmﬁiﬁgé F Gt 003700

ThE}’ are more Common in monocots

3 DrSERS” QD IS DT EIDIPOL

They are of isomorphic and polymorphic types

A % 295 mﬁ‘m%é a0boin ﬁvﬁ}maﬁ o5een

Question Number : 51 Question Id : 716447951 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to ICBN, the start date for a valid name of an angiosperm is:
ICBN 2570, 0ir0&2005%0n6), 03008, DO TFanaw o002 Bé:

Options:



21 June 1853

1. % 21e51853

1 May 1753

7 @ 131753

31 July 1853

3 x 31eg 1853

21 May 1753

4. % 2131753

Question Number : 52 Question Id : 716447952 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following plants vield Sandarac, a hard resin?

S0 TreS° DO G TRD(562 £08) 900D ot X QAEH?

Options:
Agathis australis
2913 e5 o
1. = =

Abies balsamea

7 e98) S \DOSF

Callitris glauca

9, 9% T

Pinus nigra

A % DID AT



Question Number : 53 Question Id : 716447953 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an artificial system of classification?

S0DaTBS” 9050 ), 5B DHOY IO?

Options:
Takhtajan system of classification

1 = DOEGEs BV BITRD SIS

Hutchinson system of classification

7 s:mggdsa GI08), m"éﬁ :3_5.;3%::

Linnaeus system of classification

3 v s:@gcsea GIE), B 0O DI

Dahlgren system of classification

HOE0e G308, oD DR
0 0, @

Question Number : 54 Question Id : 716447954 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A specimen or element selected from the original material by any worker to serve as a nomenclatural type under the

circumstances when no holotype is designated at the time of original publication, or it is missing, is known as:

e52000 20 (HDIND) Davoned® FS 0D QNBIEIDN D T ©d Gﬁ):]ﬁ‘wa‘) bﬁ%mué‘ 0B GSorr
DIBODEIE BT 58O VD HBODS A0 JoLHR) APT T TOTD) QT 0T

Options:
Isotype

1 W 3356@5}

Syntype

2 ) Wt ?\JD@E)



I ectotype

3. v 9885

Paratype
A % TTHD

Question Number : 55 Question Id : 716447955 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the most primitive order in monocotyledons according to Hutchinson’s system of

classification?

PO AI0E), HBECE Dordo P00 & §0b TS ArIEDSDS” eaesfoes FODDND Sa1o DA?

Options:
Alismatales

1 = P_‘}Eﬁ%ﬁeﬁg

Butomales

I m}g&fﬁﬁjeﬁb

Zingiberales

3. % 20080T0

Orchidales

4 = e:rﬁgjciﬁ:}

Question Number : 56 Question Id : 716447956 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT under the category of rejection of names according to ICBN?

DRDID( ICBN) D576 DY 367,80 aﬁgoe_%‘ & 308 oS DO T’

Options:



Nomen nudum

1. = wFalled 1:()}”_5(10

Tautonym

7w e Do

Later homonym

3. & Sed Fardo

Basionym

4.« ePRO30D0

Question Number : 57 Question Id : 716447957 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text :
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a hot spot of biodiversity recognised by Myers et al in 20007

SoHaedeS” 2000 & 2006y SOOI ABHED DB BODDE 0 0L, TS T8 I&?

Options:
Caribbean

1. % £B8Do0d

Indo-Burma Western ghats

2 % ’Ho&f-mmﬁé DI S0aeD

Sundaland

3. % ‘wormerod

Western Australia

D3 espdore

4 v



Question Number : 58 Question Id : 716447958 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a genus separated from Physaria of Brassicaceae on the basis of cytological evidences?

300TOS” PEFEES DETYIO STECOTP EPRSTR G308, DEBAI® ol DO BODWER FH IB?

Options:
Thalictrum

al)l=te!
=

1. =

Lesquerella

2 J Fﬂbagﬁ

Isophyrum

3 % DT a00

Aegilops

4' " ;)E‘E:ESEEZ)I:}

Question Number : 59 Question Id : 716447959 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Embryological evidences revealed a close relationship of Cyperaceae with which of the family?
DOE TR eSHTURED o) L0600 TS "r\}:}iijﬂ@ Qoe0Trdy DO oTron?

Options:
Euphorbiaceae

1 = cmﬁf&gcﬁﬁn

Poaceae

? % Dod

Juncaceae

3. v @030



Orchidaceae

4 % Ejabz::nf‘b

Question Number : 60 Question Id : 716447960 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following are INCORRECTLY matched?

SoHaretdes” DO ESsle mﬁaﬁ“%mcseﬁm?

Options:
Carvophyllales - trinucleate pollens

1 » SO §TS - BRSO TSy

Asterales - binucleate pollens

9 o VRO - BIRGEGDES TOdy

Polygonales - trinucleate pollens

3« FOTOSy - BRArEoIS D'TJy

Plumbaginales - trinucleate pollens

A x DOBEIS) - BITFEES oDy

Question Number : 61 Question Id : 716447961 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When the apertures are located on the proximal as well as on the distal face, the pollens are designated as:
ALelelNew @égmﬁeff e QS DO G R 2D, @ﬁgmw (Si’}ﬁe:fés} qer D) decEron :

Options:
Catatreme

1 % E"E.}@o



Anatreme

2 ) ® @x)@[ﬁl

Anacatatreme

3 ¢ odTerdo

Zonotreme

A % &3do

Question Number : 62 Question Id : 716447962 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the family's pollens does NOT have reduced exine and elaborate intine?

2 53600830 G30E), LDTHE(TTDY) IZ40 DBOID DYBRD QOGS BHOSTED?

Options:
Cannaceae

1. & =

Musaceae

2 % m&ﬂ“h

Zingiberaceae

3w Hohdora

Fabaceae

A v DB

Question Number : 63 Question Id : 716447963 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Key and Lock theory to explain the mode of the action of enzymes was proposed by:

JoZ00) H0§ A30E), 88D DHBocse=IS & Hbot -8 groto DBD DAoL HE:

Options:



Michaelis and Menton. 1913

1. = 20PHD it oy, 1913

Mayrback, 1952

7 % «0berss, 1952

Fischer. 1898

3 o 06, 1898

Buchner, 1897

4 = EJSQLSJSE!?

Question Number : 64 Question Id : 716447964 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The non-protein part of an enzyme, when it is tightly bound to the apoenzyme, is called as:

DoFED0 i), TOD Gorreh 2eio I JoBEOF (T SLIE €:9) 3D, HDD Qe VLT

Options:
Prosthetic group

1.~ T8 075

Coenzyme

? % & oo

Cofactor

3 ga"%ﬁ

Isozymes

4:. ® E‘Jﬁ-ﬁ‘ﬁ_:ﬂb



Question Number : 65 Question Id : 716447965 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The water which is held by colloidal soil particles due to cohesive forces is known as:

D00 LIET) TEULOT SPod)SReE me) SIFed Goditltm DD Qer esotd:
Options:
Capillary water

1. = S3=9g Do

Gravitational water

I x geleligRelely 5o

Ru naway warter

3. % 6l Db

Hygroscopic water

4 v THIY DS DO

Question Number : 66 Question Id : 716447966 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The concept and terminology of apoplast and symplast were introduced by:

eoSYaP) S0BOID oY GIVE), ZPAR DB DOTFN DM HBID0 F:

Options:
Levitt, 1953

1 % 26, 1953

Munch, 1930

2 o @S, 1930



Briggs and Shantz, 1912

9 Dfyo0Bosw o, 1912

Miller, 1943

A x D6, 1943

Question Number : 67 Question Id : 716447967 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Pneumatophores are characteristic of:

mémesﬁ?fﬁﬁ A GO0E), VEEFoT0:

Options:
Heliophytes

1w R,

Oxylophytes
> % Ej'ébeﬁﬁjug'ﬁb

Halophytes

Psammophytes

4 % F 20765y

Question Number : 68 Question Id : 716447968 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The inhibitory effect of oxygen on the rate of photosynthesis is known as:

36ea2R] DOOITISAD B 58y I08) TGS PIPTTD) QT IOETH:

Options:



Warburg effect

1 v iﬁ“(ﬁg{g FeTA el

Emerson effect

9 JGYD Paro

Pasteur effect

7 % 336 Do

Blackman effect

A % EPSalDn) JePad0

2

Question Number : 69 Question Id : 716447969 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Borthwick and Hendricks ( 1960) coined the term:

33‘5955 208050 305y (1960) & Dordy edoIrfoardd:

Options:
Cryptochrome

1. = 5&2‘55 &)
Cytochrome

7 % RED

Phytochrome

3. v P58



Chromatophore

4. " §me‘3"??f:]5

Question Number : 70 Question Id : 716447970 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In case of a fully turgid cell, the net movement of water into the cell is stopped. The cell is in equilibrinm with water

outside. The water potential in such a case will be:

PO S8R0 Sao D0T065°, SraoeS’d DI DEC Koo eshD dLod. Sro e D :ommu_gmﬁ"‘ €08000).

2201059083 "n}omdao@s 5ed ﬁumgéo e Eotod):

Options:
less than one

1. = 22563 Smﬂlejﬂjaruﬁ

more than one

% u 22560 Sm“;l ;)5:%.:&

Zelo

3 v ‘mannl

equal to metric potential

4 o« 085 TEODES § D0

Question Number : 71 Question Id : 716447971 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

ADP from ATP and NADP from NADPH are regenerated during:

ATP &00é ADP 208050 NADPH oot NADP & Danoioes” @éd}@g@ RToWNTATad 1 T DT

Options:
Photorespiration

1' " ores’ Gﬁbﬁﬁﬁ_‘tﬁ



Hill reaction

7 % ared BOIrED

Calvin cvycle

3 v EDBS‘% S50

Photolysis of water

A % 5 srod B0

Question Number : 72 Question Id : 716447972 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about cyclic photophosphorylation?

SAL=Ton iﬁ%"”&uﬁﬁgeﬁﬂ% DB dob 063 DO Dao 507

Options:
Only PS1 is functional

1 = PS1 argd 5333000

Reduced NADP is not formed

7 % SR NADP bﬂgam

Oxygen is evolved

3 v E:E'éba-&é &Eﬁa}ﬁ“@)o&

Electrons move in a closed circle

DU gg ?bﬁbeﬁeﬁﬁ €300 DEPOND

Question Number : 73 Question Id : 716447973 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is NOT true about the Hatch and Slack cycle?

D5 208K F*E o DB Sod TS D& Dao SEH?

Options:
CO, acceptor is PEP

PEP es56 CO5 oirsard
1 ® 2 he.:n

Oxaloacetae is the first stable product

7 25535 083 DS DODOD GSND

CO, compensation point is very high

3 o CO; 500N JF o trer IL)D

Thirty ATP are required for synthesis of one glucose molecule

4 = 2.8 (IrE'E e9cded) aB0E), DOTE g0 D0y ATP eadddo

Question Number : 74 Question Id : 716447974 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What will be the value of the respiratory quotient of Opuntia during day time?
DO 25)0B0IF G0, 5?3:,6@5 Ea050083 {?5;:3% PriDR0) 030E), Dend DDEd?

Options:
One

1. = 288

More than one

2w RI={:N) Saﬂlaﬂ%a

Less than one

3 x 2a50Y Smﬂl @5}55::



Zero

A v “mm“l

Question Number : 75 Question Id : 716447975 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a short day plant?

308 oS DB arf & D008) ?

Options:
Hordeum vulgare

1 = a‘fé"’goci:no DY6

Xanthium strumarium

Fe0es0)0 ‘Qjmﬁoﬁo

Avena sativa

3 % edTE rdar

Agrostis palustris

29l odn) 2RI
23 23

4 % =

Question Number : 76 Question Id : 716447976 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following phytohormones is responsible for causing bud dormancy?

Sod TOES” 2o DEFEIAS S6EEDIy D0 D?

Options:
Cytokinin

1. % 268D



Auxin

3 % E_ﬁ'égi)

Gibberellin

A = 20900

Question Number : 77 Question Id : 716447977 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about auxins?

08 5" DO ‘5%53 (fB05) Dazo S ?

Options:
Higher amount of auxins are found in actively growing tissues

1 & DOOOT DOMOSD) Seoareres HS DGoeS” 93y SDDIPoD

Movement of auxins is non-polar

9 o 258D E6DE GHD GarGTOAD

Tryptophan is the precursor of auxins biosynthesis

3 % AP e3840y LIAFR0ERR OIVE), IPOP

Auxins cause cell elongation

4 = 238D DS SFAAIE SPOESTFON

Question Number : 78 Question Id : 716447978 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following statements is INCORRECT about Chemiosmotic coupling hypothesis?

E&Dﬁﬁﬁﬁééﬁé gaoh ?ﬂ?ﬁ“ﬁ‘hﬁ(fﬂ@Smﬁra‘J) DB Sobharddes” DO DO?

Options:
It was proposed by a German biochemist Buchner

1 v HID 26)R GITFENY £e5) § VAT BoTTCED

Oxidative phosphorylation is catalysed by ATPase

esS\EDD éﬂﬁﬁbgej‘fq% ATPase 3¢ &@08:0:)e080

Electrons move in an inward direction

DU e5%08 B3 Ecnenmran

Protons flow in an outward direction

4 % Ter erdry 063G POTIron

Question Number : 79 Question Id : 716447979 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT involved in the scavenging of Reactive Oxygen Species?

BOIrSD e53 2D PR %boe&oﬁeﬁ“ 308 TS DA Sﬂerf?"a’:nej‘m?

Options:
Ascorbate peroxidase

1 “ E_ﬁ‘.%“ayagés E}U"@ﬁtﬁi}

Nitrile hydratase

2. v DOSESd

Glutathione reductase

3 i (PEPSOIRS 0ES



Superoxide dismutase

4 = AP0 SR GR) 6D

Question Number : 80 Question Id : 716447980 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The plant genes responsible for nodule formation are termed as:
PR (BNED) IOYEEPDS SPOBRVD DK L) BAFDVRD QT DEDJP:

Options:
Nitr genes

1 = Ntr LESNIEN) O

nodulin genes

% K]“Cij"é&é CENRIEN) DY

nod genes

3 % ﬁ&(ncd]e&-@_gj@w

fix genes

4 = ‘”E}::cﬁ 20§seD

Question Number : 81 Question Id : 716447981 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Methionine is the precursor of;

2WHAITID HD QPOYP:

Options:
Ethylene biosynthesis

1. ¢ REDS LIGTID0E0H



Auxin biosynthesis

7 % Eﬂég;% AR BE-aTe ATR Y

Lipid biosynthesis

3w D0& iR

Amino acids biosynthesis

4 = RIZDRT OITE Y BIOIPRIOERID

Question Number : 82 Question Id : 716447982 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a characteristic of cyanide resistant respiration?

S0HS” PRE TGS F(RSAD s, VLo IO IO?

Options:
It provides a mean for oxidation of NADH

1 = @@ NADH 038, e53456885) D008 908006

It operates when cytochrome oxidase is poisoned by carbon monoxide

I x 50y DFRTEE TR0 2065°F &0 e53B0 DNREPESRDDCD A DABSYD

The cyanide resistant oxidase has higher affinity for oxygen than cvtochrome oxidase

3 v DEE D e38\ED S083 DDE BP0 B3EED 381205 I eeeE) SO cod

It mainly leads to the production of heat

4 x RO DT D &BDS OB

Question Number : 83 Question Id : 716447983 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Conversion of glycolate to glyoxylate occurs in the:
OESSR [esd O A o DOS” acdrmbaod:

Options:
mitochondria

1. » WS Bogalr

pEL’DXiSDIllES

2. W EZJD‘“%JSGEDJ

chloroplast

3 = gg?{%

golgi complex

4. = TFQ I«’Jog‘fﬁo

Question Number : 84 Question Id : 716447984 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The leaves not falling but withering on the plant is known as:

DEFED TSI DY), G TET) DEFew:

Options:
persistent

1. & DOoess

marcescent

2. v TR

caducuous

3« S“QJSJ?EE}ED



deciduous

4' " Ej'S.)U“wE\J

Question Number : 85 Question Id : 716447985 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Many distant crosses of plants fail due to degeneration of endosperm. In such cases, which of following is used to
recover hybrid plants?

Do&f?ohéé a308), 2 £3¢% ToOROTP Q) © GO, T BTG w%me(ni?goeﬁ TP0R) DDOEVNTP0N. @S0
PocT e, TPHE ) en EenFons) 30 or0S° & &DArRoNecHB00d?

Options:
Anther culture

1 = 25085 Send (oS3 momg::.o}

Ovary culture

7 55096 Se\6 (e0z300 mmgm)

Axillary bud culture
3« E_‘.?QE_Jé eI& S06 (R3saE :aout:gmo}

Embryo culture

4 v DoAIr SNG (ot ::ms:ngm}

Question Number : 86 Question Id : 716447986 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following has a role in delaying senescence?

DV V[0 Do S0d DS IO Y Eobd?

Options:
ABA

1. = 2D



Cytokinin

7 o DATEDD

Ethylene
3 % 2603

Increased activity of RNAse

1 % RNAse CG_USET 2005 Sob

Question Number : 87 Question Id : 716447987 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following parts of an embryo sac, after fertilisation, forms the perisperm of the seed?

DOBECEBO BHDTS Dotk Vo) OINE), 300 TP HBHo ALE), DBYELA IO IoyWD?

Options:
Nucellus

-

1 . ngcogra

Micropyle

7 % 25D

Chalaza

3w oera

Hilum

4 % reo

Question Number : 88 Question Id : 716447988 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Occurrence of cleavage polyembryony is very commeon in which of the following family?

& 306 reno0e0e5” %E"ﬁ)é 3“@30@{5}“ 0200 TeT PG ?



Options:
Fabaceae

1. % 8%

Brassicaceae

7w EFOSR

Orchidaceae

3 o w&bmﬂa

Apocynaceae
4w e
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Which of the following is NOT true about the primary xylem?

200 foo Mded S0bd TOBS” IO 2o T?

Options:
It may be endarch, mesarch or exarch

1' " FAT) QOE‘“S&I, E‘.'D.%"ﬁb S iag JS“:JSQ H“u“:k:ﬁ_'lcb

It is derived from procambium of apical meristem

9 A0 IDES 08PN g, Fsrodatio Aot BB eCod

Tracheids and vessels are narrow and long

7y EPBE SOOI TVELD RSN O DT E0ePon

The vessels of primary xylem contain tvloses

FOE oo 030E), Trwee G572 $OA eotron

4 v
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is defined as the time interval between the formation of one leaf primordium and the initiation of the next
leaf primordium.

28 @550 PATROTO ICYEETIS SBOID BB eI PIFPOI0 FC0EPIS G SR DT°LVOTT

ﬂﬁs&oeﬁméo&.

Options:
Photoperiod

1. % DeSodoLE

Critical day length
7 2080 Tex Fcay (3086 & Soh)

Plastochron

g9, FYES

Hill reaction

4. & oS BoIrES

Question Number : 91 Question Id : 716447991 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Which of the following is responsible for the development of lenticels?

TSy 0DdiS S0d TGS IO eFEHE DaFR0L?

Options:
Phellogen

1' v ﬁ:tl@sﬂﬁ

Dermatogen

I« a{:ﬁéesﬁg.%



Intercalary meristem

3 % @o@w&mﬁ 2007

Vascular cambium

4 = JD:JJETE_J'E' Seod)oio
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Bulliform cells are found in the:

m@&é& grrren De)” EDDJRo:

Options:
upper epidermis of grasses

1 v ﬁg e m@}gﬁ%o

mesophyll of dicots

I« a;.%‘“eﬁ:j D08, % o4 s ]

lower epidermis of grasses

3« ﬁ%"; cmj% DD EJ"EJ”?SL:IIU&'O

upper epidermis of dicots

AR5 NS ERRTSIO) O
4. = A] e

Question Number : 93 Question Id : 716447993 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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During the development of the embryo in dicot cotyledons, the suspensor cell situated at the terminal end of the

suspensor in contact with the globular proembryo is known as:
&5ee5 B¢ Dotio eDa® Dotusod) Y, Fewed FFOuaIrd Doe06os” RNGNG g, B8)HS D0’
€Y R35 DS QD QO e0EPO: -

Options:



embryonal cell

1. % =o& Zeso

hypophysis

vesicuar basal cell

4 x aﬁag;éaﬁ £3:e5 Erao
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During microgametogenesis, the two gametic nuclei are produced by:

DETEEIND 0010, Bocd TP0BS SoEsren DB G SJP00:

Options:
mitosis of the vegetative cell

1 = FHoD Sea0 OI0E), PETDD

meiosis of the tube nucleus

2, % £a°ge5 ArpSaiRd( Se@so) C3VE), DIATIOR

mitosis of the generative nucleus

q o TGS 530D ( BogSo) oI, DT

meiosis of the generative nucleus

4« ST Q0758030 ( SogSo) A, DoGITID
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Haploid accessory cells at the chalazal pole of the angiosperm embryo sac neighbouring the central cell are called as:
Bog Srd3 TOM &) 0IPoRAIN 6] 0o Vo) CINEG), SePaes (Do O &) DFET0NE 9006 ST

e ﬁ:mé"d_‘}:
Options:
filiform apparatus

1« B0 edyBud

egg cell

7 % DB RS

svnergids

KK hégfﬁ

antipodals

4 v oajuoe?}ﬁ“c:e'a‘;}
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Which of the following is NOT true about self- incompatibility?

& 300 TS D& ?35@—@:}@;5?5@( 85y EoarerddB) Mool Dao TIH AO7?

Options:
It has made the plants out breeders

1 x RO DGO TS B0 B0

It allows raising of pure lines required for breeding programmes

2 o 26 :t-c@“.%f'éj:]e_'ig SPE{EATTOE) BIDRDOROIN RYEHNZOR THa DoLTDS 9R0DS0H



It prevents self-pollination

9 5 @0 OB HT IR0, DTGB

Variations appear due to outbreeding

4 x 2365 DEof (Erir) DRIV ) SO0 DjTFre SDDI0N
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Which of the following is NOT responsible for pollen sterility in angiosperms?
mﬁﬁcﬁjﬁh:]ﬁ&geﬁ& Eig_)ﬁ“njé‘. DoGFEPIDS 30d e DA EPCS HITOSE?

Options:
Anther suppression

1. % OIF0E6 LDPND (DT830 EIDS)

Failure of anther dehiscence

7 % 0IFoE6 Barrdy( DTSR DOVD) B0g), PDRKO

Meiotic irregularities

3 % QOIS SonCarmren

Anther dehiscence

4 v oiro0 Eﬁjﬂh&b(ﬁmﬁgﬁo DEFH0)
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Pericycle is developed due to the activity of which meristematic zone?

2 EPITHS E'D 0308 ST SO0 DBPRIS DO Sonedod?

Options:



Dermatogen

1 = COLESES
Calyptrogen
92w =TS

Plerome

3. v

Periblem

4 % EJEIE;:D
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In which of the tetrasporic embryo sacs. the basic arrangement of the 4 nuclei in coenomegaspore before the beginning

of mitotic divisions is mainly of the 2 + 2 arrangement?
D BTN B5 Docto FEy(Roten ), 2eFdS DEiede FrooerdS ot FoInSmr 567 4 Sogsre GBS,

FPHENE 95008 DrESorT 2 + 2 e9sndE?

Options:
Drusa type

1. % &P 0%o
Plumbago type

2 % ?Qomcﬁi lal=1s}

Fritillaria type

3 x OTBar 680



Adoxa type

4 v E‘_‘JSS"JGQG
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The low temperature treatment given to the dormant seeds for breaking dormancy is known as:

r‘?}gea‘?a}]@[mﬁ&bb}h DD 0 BOVEEIS BN DTV Wy VYD & T00 DB Qe es0trdd:

Options:
scarification

1 = QLINVERTAVEN (ﬁvbﬁiﬁa&}

impaction

I x €90 (Qoarsd)

stratification

7 o “géf_ﬁaﬁﬁﬁo

saccharification

4. & DTODTOD
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Succession initiated with the establishment of pioneers on surface, which have scarcity of water, is termed as:

D) Eoey 6 EDBBoD DDA gvz'.m@ FoigelerAls A 06 (DSHN) T DEDDEIDB0O:
Options:

hydrarch succession

1. % ?_._J“Qﬁa "n}gj-f_]ﬁ



climax

§5§D“§D

hydroseres

3 x PEDD

xerarch succession

4 v a‘a‘mﬁb “&::E:}aé
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Correct Marks: 2 Wrong Marks: 0.66

The functional aspect of species is referred to as:

OO0V SIS (53D Qe Q0P R Co:

Options:
biomass

1. & eddrarn

ecological niche

3 DO°§006E (P ( JEerate) D)

standing state

g, DD A Fodoh 1)

ecological efficiency

DTgI0E a0

4 = 3
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According to Paine (1980), which of the following is NOT a type of food web?

200 (1980) 5760, So& a°He5” DO HE D 57 ?
Options:
Connectedness webs

1. = Qﬁ')gtﬁ?:‘f\] E)ES:}

Energy flow food webs

7 % 33 Pariro e9535G igren( ;).:ag o & De3y)

Functional food webs

3' ® "6:}055335 "@jf‘. E)ES;}

Community webs

4 v émﬁzsfjff} Dedy

Question Number : 104 Question Id : 7164471004 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Each biome blends with the next through a fairly broad transition region known as:

DD LOFQ BHOTA B35 O IYS DBDGD Frotdo TP{T” VB0 DT P VDM

Options:
permafrost

1. % IR

meadow zone

7 % (i porrdoe( anil '9)

ecotone

3. v TR



savannah zone

4 ® T—:]&f!@bl éﬁ%
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The kind of association where both the populations are benefitted, but is NOT essential for the survival of either

population is referred to as:

QAW 2P POTFRD0 TOMEP, S0 2 BTLPS DAOCES) OV00 S FPEFBG[0 QT ATDOIRIDBI0:

Options:
proto-co Gpﬂl‘ati on

1. v TE-Dos"00

exploitation

7w Sod

competition

3w D&

amensalism

A s esnoddao

Question Number : 106 Question Id : 7164471006 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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Which of the following is a secondary treatment for prevention of water pollution which involves allowing of water

through a thick layer of stones or gravel?
DD SO DO DB GLRVD TF) 6 T 5056 T DD e300 DEocd @@&0@5(&5@0&1 D00

DE?
Options:
Sedimentation method

E..f .
1. = e950E 300 @%’:ﬁ



Screening method

B i
f\jﬁboﬁ a%‘noﬁ

Trickling filter method

3 v 500 DO DYD

Flotation method

4 = TEOD DG

Question Number : 107 Question Id : 7164471007 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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The external appearance of the community which may be described on the basis of dominant plants, density, height,

colour etc. of plants, is known as:
D0E) © 10 PLIVEDR D) D, TFOGES, 2, Gofh DWEETD T8 eSO QOBEIE PTPH0 CIVE), EFTY
GParIY P I0ETE:

Options:
periodicity

1. % ©OGES(LBAITEDS)

phenology

9w T (rrerd )

aspection

3' % CUJ“_E'O‘:)E‘%

physiognomy

], v DECTTID

Question Number : 108 Question Id : 7164471008 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following toxic substances are known as photochemical smog?

305 2 D ded VOGO SreSsoLeS &éﬁ(ﬁ“ﬁmom} £9) 90D ?

Options:
Peroxyacetyl nitrate and ozone

1 v DOPENDIDBS DEES BT LED

Nitrogen oxides and hydrocarbons

7« DD B OBOID TFES G

CFCs and nitrogen oxides

3 % CFC en 208050 D &5y

Nitrogen oxides and ozone

4 = D2 e5BE BT LE'D
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When groups of populations are separated by uninhabited space across which dispersal and gene flow occurs at very
low frequency. it is known as:

B D DARDA[0 DG DECEE0 ADBOID 2] PTETF0 VoD S BTEP DATDED BFTrIreD G PBTE DM
DOADLIEIDYD, T Qe DeDJRD:

Options:
sympatry

1' Wt ?\Jﬂaﬁ@

parapatry

9 % Jo>d



allopatry

g, eF>S

sibling species

4 % Fenenspe( Hdoh) ardoen

Question Number : 110 Question Id : 7164471010 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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was an international treaty agreed in September 1987 and entered into force on January 1989 on substances that

deplete the Ozone layer.

L&D TR LedodEd Drrgrop Dpoed 1987 & eofisbosedd sndotn 2050 1989 & e0gs HND
Pﬂo@g’eﬁﬁojj 253030650

Options:
Kyoto Protocol

| . B TS

Montreal Protocol

7 ¢ SrooneS F'seS

Rio Declaration

3y BOTF AEERS

The Vienna Convention

1 % &’jcmaﬂl SeATE0
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Which of the following is NOT true about the Red List Index?

T E}Ej:r f“a?oﬁf,é:] 000 Sod aredes” DO Do S0 ?

Options:



It is based on IUCN red list of threatened species

1. = Qb OO0 &) FSOL DOIVVID TE DD STCHE €0wod

It does not define the conservation status of major species

ot ut o
2 o 20 P ardw DOCLR giﬂa DOLEIoIT I

It is being used to monitor biodiversity loss

3 « BODDE] DD DOFDL0STDS HID EDATTHRT)

It is available for a few taxonomic groups

4 « TR %"ai aggdm PaTRateE) evoceTeenes” eod
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Which of the following hypothesis have NOT been proposed to account for locally high species richness?

Q“KJSDW 008 B0V QYD) T8) 0TIS S F08 DBENRAIS® IO PAJOODLIESE?

Options:
Intermediate disturbance (Horn, 1975)

1w oOBLEADE EPONOY (56), 1975)

Herbivore-driven forest diversity (Janzen, 1970)

7 % PONTE-EDS 0D EH0ND (279, 1970)

Neighbourhood recruitment limitation (Hubbell, 1999)

7 ReIE BEE3) 085 DTN {E:I“Erafﬁ, 1999)



Spatial Heterogeneity (Simpson, 1964)

4 v 20085 T ZDE (R0, 1964)
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Which of the following is NOT classified as an air pollutant?

Sod 35 DA aroin SPeDRY SO0 a@smﬁmm@m?

Options:
Carbon monoxide

1. = S"Cﬁacﬁ E).PR’J‘”EJ&

Stratospheric ozone

9w geﬁﬁaé 5B

Nitrogen dioxide

3 DR CoIrByE

Sulphur dioxide

4 % “r:]ﬁ};}ﬁ fictij“g;}é
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The model which uses Light Use Efficiency and Intercepted Photosynthetically Active Radiation and is said to be one of

the efficient ways to estimate net primary productivity, was developed by:

965 03ord IHN0DAY BT QoLGHPE 52006080 airdd BATIS (oot SPod Do Sairde
BEAITrEro)5)R0 60010 DPEeS DB S0 PO SIFYGEEBA) LOST DOVEEIS VVGDOBRD Hrgrers
ST TONRIED DES A0 DD DG SFcd:

Options:



Reinfelder et al, 2000

1 = Bﬁbgﬁ S0dBosn gechen, 2000

Kale and Roy. 2012

9 o T B Tk, 2012

Riebesell, 2000

3 x B&e5, 2000

Larcher, 1982

4 = er6N0, 1982

Question Number : 115 Question Id : 7164471015 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
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is a monumental work to create public awareness about environmental pollution.

D00 SPe[o HBoT) DS ST 590D SDHR 28 eI G0 :

Options:
Endotherms, Holdridge. 1967

| o oER0y TS, 1967

Silviculture of Indian trees, Troup, 1921

2 POA0D D IO, LD, 1921

Silent Spring, Rachel Carson, 1962

2Tt (o, T°DS 0y, 1962

3.



Origin of species, Charles Darwin, 1856

4 = 20D QuIPw0, D00 5“5515, 1856
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Eutrophication is maximum in the:

DS 0NTEDIND (10T Eolnod:

Options:
upper lavers of deep lakes

1 = S°BD DO P TFoew

bottom layers of shallow lakes

I % Z]f)“j:j RO B SFoen

bottom lavers of deep lakes

3 S°BD DO BIDLD Foe

upper layers of shallow lakes

=
a

4 % :2]5“5-:5 RO D SPcen
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The final steady state or stage in a succession is known as:

2ot mmgmm(m%ﬁq‘%)eﬁ‘" D0 DOZOD ;’geia G GID Qe eIotPm:

Options:
climax

875
1. 39



biotype

7 % QOGO

sere

community mosaic

4 = éméﬁjéf') 0EP0NSE
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Which of the following is NOT correctly matched?

Sod ¥ DO 281 0ol ?

Options:
Stockholm conference - 1972

1 x FEFD oD - 1972

Earth Summit - 1992

7 % 20 D5 - 1992

World summit on sustainable development at Johannesburg - 2012

3 v &5 Deages” R0N0 DED Do o] POrDIo - 2012

IPCC - 1989

4. % IPCC - 1989
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The seeds which can tolerate drying and low moisture content and can be stored at low temperature for a long time are

known as :
DoCEEIICE0 SDBOTD BE D BV SEOE () aBOT DD egifgej DG ISV I BN DBTOVD QT

90t
Options:
recalcitrant seeds

1. % DITDYS IBTeD

dormant seeds

9 & Dreegod (c=0),065) Deren

orthodox seeds

3 o ‘&);J“e:m(ﬁ?fmﬂﬁ;}} DedrreD

impermeable seeds

1 = £9ZICS] BT D
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Dalchini is obtained from:

T&b:} &5 Hdods ﬁ“omama:

Options:
Cinnamomum Zeylanicum

1 « R AT Ferdto

Cinchona Calisaya

7 x Do¥T wdIron

Saraca Indica

3. & WO Qolse



Centella Asiatica

4. = o0é3er esra0iTedse
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Which of the following parts of a plant is used for the extraction of saffron from the Crocus sativus?

EED oD ool SRR R Q0TS 2.8 Dg), dI0g), Sod aPreed” D8 aDIFNoECIE00?

Options:
leaves

1. = 2w

ripened seeds

7 % WDOER DHTW

stigmas and tops of styles

3 S°C O308), Sere(io SVBOIL e9rierio

petioles

4 s estosee
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Drugs are NOT obtained from the roots of which of the following plants?
306 ariHes” D DOEY.® DYy Aol TOE°L TFocserien?

Options:
Atropa belladona

1 = eatS' D BerEloe



Glvycyrrhiza glabra

TOeaDase Tree
::_ﬂu .

Rauvolfia serpentina

ﬁ“ﬂﬁb{}d}“ "n}ﬁbaeba“

Terminalia arjuna

4 v E&&mﬁ)oﬁ‘i}“ E‘_E'C&DEC}
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Sunn-Hemp is obtained from:;

D00 B 2ol Tooertod:
Options:
Linum usitatissimum

1 = TR0 QTN

Corchorus olitorius

7 % Enﬁﬁb{jfa 2,0e5°6010D

Crotolaria juncea

3 E{NE 3 elewn 22 D0I>

Gossypium hirsutum

4 % [ 2aato ﬁ:rnm:}e.}o
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Khus oil is extracted from:

D0 AFD A Aol PEBoIeIHBI00:
Options:
Cymbopogon flexuosus

1 = 2085 DD DEFFOD

Vetiveria zizanioides

2 o Fe e lalen b aaaaﬂ.ﬁcﬁ}“még

Mentha arvensis

3« Foblelak Eﬂﬁ&ﬁ)ﬁi}

Jasminum auriculatum

4 % Eﬁ“?&ér“ﬁc} esBEHe80
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Cotton fibre is derived from:

o000 20806 (22 ) &I fvod HnEedod:
Options:
epidermal hairs on seeds

1 v DETOP JDEOLS STew

phloem fibres
2 ® @65]' ;L}EJED

sclerenchymatous cells of stem

Srolio cﬁnéb ?ogﬁoﬂmeﬁ:} Hrame )



outgrowths on stem

4. % sroto DG DOHMDG
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Which of the following is NOT an advantage of the green revolution?

S0d THES” IO OB DPDo GINE), POTTFBD0 SD?
Options:

1. =

It allows us to produce more food than traditional growing methods.

DroDTEaSoTE DMDHAD) DGOV So8) 5D eIV EGND DODEIS A DAV ADVSB0H

It causes a reduction in food prices for the global economy.

7 % R 20 ?_ﬁgé aﬁéa"%}ﬂ) EreleNaleld) @ﬁa‘&g}ﬁ} SO0 )05,

3. %
It allows some croplands to produce multiple harvests in a single vear

28 §y Dot Zranen 2,3 DoHtHGoeS” LEFVF DoLBA GBS SIS BRAAD

It encourages more resistance to pests, chemicals and other hazards.

4 v QO DD, CIONTFLD BOIL RBC PATFTVL BB DFGEB Feod.

Question Number : 127 Question Id : 7164471027 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Most commercial cork is obtained from:

I3IOS Treday] BO(5°6)) A Aol ToteacHaod:
Options:

Bombax cieba

1 = BS“{:-EJ@D eET"



Quercus suber

2 o Qﬁdbfo 2080

Gmelina arborea

3 % o o= @E}G&\Jﬂcﬁjﬂ

Picea smithiana

o_ o E: ]
4' “ e IOST rﬁé‘émm
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Which of the following is NOT a dye vielding plant?
SoHaride” @ adohH roe5(Gorh Q0N :mgb] D6 5o ?

Options:
Pterocarpus santalin

1 = eaﬁﬁsvﬂbm FrotadD

Indigofera tinctoria

%> % ol oo 93055011]‘*

Reseda luteola

3 % Tore enddoirer

Tecoma grandis

4. o OFDF Toldd
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Lacquer, a hard resin, is obtained from:

D8 BRD(E8 208) 9000 SRS HI Hools ﬁnﬂﬁﬁtﬁ}b:

Options:
Butea monosperma

1 = Av{nTeve, EIPS?\}:]D'“‘%}

Acacia nilotica

7 x  essroir DS se

Rhus verniciflua

3 v e E:Eﬁf;}?@a“

Agathis alba

4 = eI RS
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Which of the following does NOT belong to the family of cereals?

S0 SYRTETRIL DHE0EPIS BOGEID ID?

Options:
Avena sativa

1. = e Frdaoe

Hordeum vulgare

7 % a‘fé"gumo HY6

Zea mays

3 % &0 200



Cajanus cajan

1 v Tadd Tao

Question Number : 131 Question Id : 7164471031 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is Sharifa, whose fresh flowers and ripened fiuits are eaten?

SobHaredes” o d) wrae DL DBOID DOERD Do A Do H?

Options:
Bombax ceiba

1 « BS“DEJ“gb aIETe

Annona sSquamosa

E‘.‘Jﬁl@“ Er%ﬁmﬂﬂ

Bauhinia purpurea

3 % EF aTe 05T amﬁam

Cordia myxa

4. % Selenby S5y

Question Number : 132 Question Id : 7164471032 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The NI Vavilov Institute of Plant Industry, one of the most important gene banks, is located in:

S0D[EOD B o’ 2,805 NI D' QDTS €5 arots fmoci% Q) ¢ Eob:

Options:
Rome, Italy

1' x S, 608



Hyderabad. India

7 % POUERS, QoCOIT

St. Petersburg, Russsia
£ 5
3 23000063 @mcs%g Oa¥ry
Kew, United Kingdom

4 x 95 C0DOE S0hED

Question Number : 133 Question Id : 7164471033 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Intergovernmental Science - Policy Platform for Biodiversity and Ecosystem Services was established in:

Q0£6056) D085 2Oy - OITFEHBD eol IEDPD DEHD Do ed PtSro QL) Frodeactob:

Options:
January, 2013, in Bonn, Germany

1 = 2o, 2013, E&G&E}Eﬁéﬂ e €5

October, 2010, in Nagoya
2 % e_ﬂgmﬁ, 2010, ~rfiaire”

December. 1993 in Rio de Janeiro

3 % Gows, 1993, a3 & adFS”

April, 2012, in Panama City, Panama

] ¢ 208, 2012, Hrars’d DT Jidod”

Question Number : 134 Question Id : 7164471034 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



In which of the following states is the Manas national park located?

& 300 Trgreds” SrdD ardan ETFIDV0 JE) 5 6D B?

Options:
West Bengal

1. = ﬁ%‘bﬁ) gorred

Rajasthan

7 Unee,gﬁ.%

Assam

3 7 E‘_‘Jﬂ“JD

Uttarakhand

1 » &OUDOC

Question Number : 135 Question Id : 7164471035 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Botanical Survey of India was formally constituted on:

e3P DEES 0BG 5D ROCOIF OSOS0T JNED :}D"DE}J SR Cob:

Options:
January 13, 1939

1. % 13 25056 1939

February 13, 1890

9 o 13 Deod 1890

February 13, 1957

3 i 13 e 1957



February 13, 1952

A4 % 13 Dexd 1952

Question Number : 136 Question Id : 7164471036 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a method for induced fusion of the protoplast?

30050¢" F'PDH ), DTS oDIG( P[RS QoETD )LD DA °3H?

Options:
Electro fusion

e

;}ﬁ.vg ) LIS

Treatment with sodium nitrate

I x oo POSE D3y

Polyethylene glycol method

FOBDD 757 DY

Treatment with magnesium sulphate

4. v ?:'Dﬁolilﬂdoo "n)fj;jéﬁ Eﬁ@:ﬂ

Question Number : 137 Question Id : 7164471037 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Barnase gene which is responsible for preventing pollen development and ultimately leading to male sterility has been
isolated from:

@ﬁ“;}d DB DerBose=IS ot DHBS S DogEIS AR LA R AT 20D DB A0d DHACLEE0E:

Options:
Agrobacterium tumefaciens

1 = esfier3Boio AL VS S



Bacillus amyloliquefaciens

EPRIOD 905" E!lé:j?or:fuéb

Bacillus thuringiensis

7 eaﬂ?;}%:riz maoﬁcﬁoajﬁ:n

Rhizoctonia solani

4 % BEE D0 Ferd

Question Number : 138 Question Id : 7164471038 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT an auxin?

Sob are3es” DO 258D 507

Options:

]
>
L
1
,_]

DPU

? & Gt

NAA

3 % 0O

Question Number : 139 Question Id : 7164471039 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about activated charcoal in the plant tissue culture media?

05 By S0 A oIres” D800 D &F° (D HB0D Sob J3e5° DO Davo TEE?



Options:

1. =

It is generally acid washed and neutralised before its addition in the culture medium

RO OO O3TnGE & Scired, SN Ao ConDd Ao @mﬁggaommmmo&

It is generally added in the concentration of 0.5% to 3%o in the culture media

2 % 20 JPOroTE 5%6 S0coi0ed” 0.5% snod 3% mreiaded” addoiecdinod

3.

It helps to remove the toxicity by removing toxic compounds (phenols) produced during the culture

28 S5 VAVODS® EBD Soedsd D VA FTrOD (DY) Feohodco TrqTe Do) Feofodmd3
FATe Jou b nbla blata)

It does not have an inhibitory effect on any culture

4 v QA J SON6 D DFEE PPy SPD

Question Number : 140 Question Id : 7164471040 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is the earliest plant tissue culture media originally formulated for root formation?

So&areedes” cmed @“ﬁéi}é 65 20068 drFofocietsd Jrots By Sond AT DO?
Options:

White’'s Medium

1.« 25 Mdé&ado

Murashige and Skoog

7w ST s0d030 :a:ubﬁ

3.

Linsmaier and Skoog

. DRy, 6 oodatn



Nitsch and Nitsch

A % r‘i]glﬁ 0805 r?]g:f:n

Question Number : 141 Question Id : 7164471041 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about somatic embryogenesis?

Sodarede” Tards JoDdIrEDDD Hdod) D& o S ?
Options:
There is a high probability of mutations arising

1. « eﬂbﬁéga*e_} ajm:}mg;m eS8 ‘A}oa:wajée:@ &0

Induction of embryogenesis is often very usually difficult with many plant species

e D) @) aRdeT JodAIrEIND A3V, DO TPEF S0
2 ® EJ ET > )

A deep dormancy often occurs with somatic embryogenesis

7« S°BD DD SO TArdS JoDBEBIDIE DoBDd

The chances of losing regenerative capacity become lesser with repeated subcultures

DBDE DV YT DDDSD &mgﬂﬁhl E'5°0D 5D S5 DT G080

4. v

Question Number : 142 Question Id : 7164471042 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following pioneering the experiments on wound healing, demonstrating callus formation?
S0HTAS” TPOIFY HPAND , TR T ND(30000 IOy TaD) P DAL DA BVD TW IDE?
Options:

Gautheret

1. % TBBES



Trecul

7 x 896

Henri-Louis Duhamel du Monceau

3 PQ-ATPONRD CITFRE € DIPINOID

Vochting

4. & SDob

Question Number : 143 Question 1d : 7164471043 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following developed a mechanical procedure which has been successfully used to isolate the single
mesophyll cell, active in respiration and photosynthesis, from the mature leaves of many species of monocots and dicots

including grasses?

B0OHTRES” D8 P00 DEFSTEY SOOI DAYEE DD Ztey DIDS] 50 Ao, DohS WIS Sy,
?S‘fbgcm Eeblalenth) édwa&é}s 20030508 CHMENT DAMBOITTIS DB0DOOBOTT EDrNoNeEd oiTeas
BTN aladdd Eﬂ?:){)agh w=i?

Options:
Gnanam and Kulandaivelu

1 v Pa50 DO LHVOEDLD

Takebe and co workers

I % 635 £ s000ID Dok aﬁémw

Martin

Scragg

0

Question Number : 144 Question Id : 7164471044 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of following is NOT recommended to check the viability of cultured cells?

g0NG St &ﬁmﬂvm%o(mmﬂﬁﬁeﬁ) 90D I0NTIE 80d T DO Nary BoDEETE?

Options:
Fluorescein Diacetate Method

1« TEIS corpees dordo

Plating Technique

5 o DB ©8)5

Evan’s Blue Staining

3 % Py et cﬂ_ugb (Ab ?énom:}oﬁ

Phase Contrast Microscopy

5 E. 5
4 = 0d PofrR EI YD

Question Number : 145 Question Id : 7164471045 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

After 30 PCR cycles, theoretical number of DNA copies produced will be near to:

30 DResd I5rL BETPS, GEND DolecRd DNA S0 DLroBE oay HDA C(IOTT €08000:

Options:
1073

1. = 1073

107374

7 % 107374

10737418

3. % 10737418



1073741824

4. v 1073741824

Question Number : 146 Question Id : 7164471046 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following restriction endonuclease enzymes does NOT produce blunt ends?

S0b ToeS° D BRES 3085.‘11}“?55@@1 D0BE0eD DEEFBD D0 (E085 Jofy) G Do ?

Options:
Haelll

1. = Haelll

Hpal

2 « Hpal

SmaA

3 % SmaA

Sau3A

4.« Sau3A

Question Number : 147 Question Id : 7164471047 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The recognition sequence (given in single standard form, 5°-37) of restriction endonuclease enzyme BamH]1 is:
BRED ;_‘Jo&‘?.ﬁ}n_’ssﬁ}ij JoZd BamH1 a3ng); (8o Savo (2.3 raTreds drsoe” qetod, 5-3):

Options:
5-GGATTC-¥

1. v 5-GGATTC-3

5’-GAATTC-3°

7 % 5-GAATTC-3



5’- GGCC-3°

3. x 5- GGCC-3'

5’-GATC-3

4. % 5-GATC-3’

Question Number : 148 Question Id : 7164471048 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about Chromosome walking?

EDord o0 ar30h dod) 30 o766 6 Dao 57en?
Options:
Technique to clone a gene from its known closest linked markers

@D GO0 Dos ATF0) 0 A0G B e oD &3
1, » BEESG0B] Sr) il aiiion: Jrda 05 5

2. %

The closest linked marker to the desired genes is used to probe a genomic library

22e0f (JoTP0Ir DY H8IDoST DS TOOHD BRAOJINOE BHOTT &y mc%é G003 oe a8

3. %
A restriction fragment is isolated from the end of positive clones and this is used to reprobe the genomic library for over

lapping clones
@) S(F20D) £ D00 00l 2,8 DO rrio DWBONENDBEE BTN @0 erjDoh £ Edo 2y

goc;j“&m:ij"al aoGBod TS aHaaFNociecodod

4, v

It is not used to identify and sequence long parts of DNA strands specially in a chromosome

E2r& 208" HBZorr DNA sogupe (FaEpdd 2o dostedd odain Savo D00emdS @b edairhosecicd

Question Number : 149 Question Id : 7164471049 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Gene promoter in trp operon is inducted by:
rp 200r0 °0 20 Dared DO Hnod:

Options:



IPTG

1. & ooeéde

B-Indolylacetic acid

Y ¢ D QETFHOS oFNE

Lambda CI protein
9y o Cl TS

Galactose

4 % nﬂvgé

Question Number : 150 Question Id : 7164471050 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a chemical database that allows search for a combination of enzymes and metabolic enzymes?

DoZHoen HB0IN HDZ0L JoBane f0ons FHo FHODTEIS 900NN CIP0D Eerid Sod o’ D&H?

Options:
BLAST

1. = BLAST

ENTREZ

9 % ENTREZ

PROSITE

3. % PROSITE

LIGAND

4. » LIGAND



